FITTING INSTRUCTIONS FOR ENGINE COVERS

FORD BA – FG BOSS V8

Part # ECK001+

Kit Includes                                      Tools Required
1x Engine Cover


    4mm Allen Key

2x Tappet Covers

              Drill

1x Computer Cover


   13mm Spanner


             10mm Spanner

 

1.
Remove radiator overflow bottle (2x 10mm bolts) & oil cap.

2.
Remove original engine cover (3x 4mm Allen key bolts).

3.
Remove the 3x washers and rubbers from the original engine 
cover and affix to engine cover supplied.

4.
Remove 2x 13mm bolts from the spark plug access point (driver’s side). Remove 1 x 13mm bolt from passenger’s side. Retain bolts.

5.
Fit tappet cover supplied and tension down with the original 
13mm bolts. Repeat on opposite side. Do not overtension.

6.
Replace radiator overflow bottle and oil cap.

7.
Fit engine cover supplied using the original 3x 4mm Allen key bolts. (The Allen key at rear of engine is held by a bracket and 8mm bolt to corner of manifold – loosen this bolt until cover fully fitted. This will help pull down engine cover when 8mm bolt is re-tensioned.)

8.
Fit computer cover supplied as per enclosed instructions.

NB: If the Big Mouth® cold air induction is fitted to vehicle (BA-BF), you may want more clearance to engine cover. Remove engine cover and rework bracket upwards. Refit engine cover.
Another Quality Product From SS Inductions

…making good cars better!

© SSI 2004/Regd Design

